= A
N = 0] &F AF S & AN A
20158 &= 20 A LBt H 2322
EX: S22
My BN L 2IAY E=X
e sSHsd 2L (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
St 11,678,197 11,315,349 362,848
= 3,321,853
Xl 600,000
J| 121,990
&< 955,589
= 6,678,765
=M 2 ALY FA 1,356,540 808,988 547,552
= 40,000
J| 41,990
& 10,000
= 1,264,550
EH=4d 2 860, 100 437,160 422,940
= 40,000
= 820,100
HHET CHQ K AL 226,200 230,320 N4,120
201 gBt2Ay| 24,200 26,320 N2,120
01 AP 2t 2| H| 24,200 5,320 18,880
OBHHEIZLHON A 22X S|
7,000 150 x4 4,200
OBHAEE ol g 7,000
OHAEE ¢4H OlsstaA 2AXt
600,000 x5CH x4 12,000
O=HM2Z & AdA=XE HH M2 R22H| 1,000
307 Q12t0| & 202,000 202,000 0
04 SIZ2ISHAAISHE E X 202,000 202,000 0
OYASdE X SHAX S 202,000
WE=EN(EX) 80,000 0 80,000
= 40,000
= 40,000
307 2Iz2to| A 80,000 0 80,000
= 40,000
= 40,000
04 SIZ2SHAAISH E & 80,000 0 80,000
Ozig ezl =l 80,000
= 40,000
= 40,000
AAFSHE R 229,400 203,840 25,560
201 2Et24Hy| 29,400 24,840 4,560
01 AP 22| d| 29,400 2,800 26,600
OXMAMSEH SHAF 22X S|
7,000 2503 x4 ! 7,000
OXMAE =M SEA 7,000
O&AMNB=E=HN OlsSatEA AR
600,000 *6LH x4 14,400
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My BN L 2IAY E=X
o9l SHsgL (29l 8)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=H& & =& JH M+ 1,000
207 A RO 25,000 0 25,000
01 A7 39l 25,000 0 25,000
OdME=EHM 2LE 2 25,000
307 glz2tol & 175,000 127,000 48,000
04 DIZHHALALSE E X 175,000 127,000 48,000
O MAMSEM X 175,000
=M A& 124,500 3,000 121,500
201 LBt 123,000 3,000 120,000
01 At 22l 123,000 3,000 120,000
OXNS=H &8& it 29 3,000
O=H SALN 22= 200,000& 600 120,000
301 et d = 1,500 0 1,500
09 HALAHIE& S 1,500 0 1,500
OFH =8 &< & 4% 24 1,500
=M 2ANx=E 2 HE=> 200,000 0 200,000
403 MHXISHE X201 E 200,000 0 200,000
02 S| 2SO CHEHCHE AH Bl 200,000 0 200,000
O&Atst ZH =XE 2XAxd 200,000
SE 2 AY 152,860 34,460 118,400
SEZZASSY 152,860 34,460 118,400
201 Let24d] 2,500 3,500 A 1,000
03 &AL Z I 2,500 3,500 A 1,000
OdESAZatall SATA Ml 2,500
—SAZo(Ye) 1,000
—g58H 29 500
—&EH A4 SAH 1,000
202 044l 360 960 A 600
01 = LH o4 1l 360 960 A 600
gEsa2st&x EIt 60,0003 x2H 3 360
306 43 150,000 0 150,000
01 &3 150,000 0 150,000
Ok &2ZxEI= 150,000
A =S 343,580 337,368 6,212
J| 41,990
= 10,000
s 291,590
HdZEL 200,836 195,816 5,020
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2N
X ZH -
L= B

el

i3]

t

>
— 0
S

=3
=M L BBAY XX
A 2R

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11IIEtEA S 20,000 16,000 4,000
O=Ue dM22A2X AddEIENEZE
200,000& »HH A 100CH 20,000
ot EANsH 18,764 28,664 A 9,900
301 L2 A= 18,764 28,664 A 9,900
09 HALAHIEA S 4,364 28,664 A 24,300
OHIDE AL =4 7,000 *22H x6 3] 924
OfI3s s s 60,0003 *4H +x3 +23] 1,440
O&&XAS L&t 2,000
11IIEtEA S 14,400 0 14,400
Oo=&X 22X 24 14,400
—HHNELNXZZAHA 22X
45,0003 =18 «200 9,000
— 2oL 22T 45,0002 *1H 120 5,400
2 AZHEMNRE(EX) 43,980 46,888 A2,908
J| 21,990
e 21,990
301 L2 A F 43,980 46,888 A2,908
J| 21,990
s 21,990
11IIEtEA S 43,980 0 43,980
Ozt &AM 54 43,980
J| 21,990
s 21,990
CtEoll SASAMSE(EX) 20,000 0 20,000
< 10,000
s 10,000
307 21201 A 20,000 0 20,000
= 10,000
= 10,000
02 IS AHE L 20,000 0 20,000
OUEol FAs AFY 20,000
< 10,000
s 10,000
2FEB(EX) 40,000 0 40,000
J| 20,000
[ia 20,000
201 L2l 40,000 0 40,000
J| 20,000
[ia 20,000
01 At 2t 2l 40,000 0 40,000
OztZoHL I M= 40,000
J| 20,000
[ia 20,000
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X ZH -
L= B

el
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R M
0K Of tou
A

o M0 0¥
1o
=

e
=
[Q ng

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
22 AR O 3,034,545 3,855,270 A 820,725
Xl 600,000
J| 80,000
< 15,142
e 2,339,403
22X NS AL 1,507,196 2,705,766 A 1,198,570
Xl 600,000
s 907,196
HFANEE HES 182,000 270,000 88,000
401 Al HI R 201 I 182,000 270,000 A88,000
01 A& HI 182,000 270,000 88,000
OZFNML AEES HES=SA 50,000
Onl2EX EXMHEH S 50,000
Of=2FHE 2N ZA EHA 22,000
OHHMEWEZCHA ZEZE WHSA 60,000
JLot0l ol ==& FA3 ALY 1,000,000 1,000,000 0
Xl 600,000
s 400,000
401 AIEHI L 20 1,000,000 1,000,000 0
Xl 600,000
[ia 400,000
01 A& HI 993,739 993,739 0
OJt0t0l o ==& HASIAIY 993,739
Xl 593,739
i 400,000
03 Al S THHI 6,261 6,261 0
OJt0t0l oH===%& FASAY
993,739,000& *0.63% 6,261
Xl 6,261
ol Il ol & 7 At 125,196 235,766 A 110,570
401 A& HIZ 201 I 125,196 235,766 A 110,570
01 A& Bl 124,301 235,766 A 111,465
OS2 AN S0l S 23 At 124,301
03 A& =TI 895 0 895
OSZAIZEX S0 S2SA
124,301,000 *0.72% 895
o2 2t MRS DALY 200,000 0 200,000
401 Al HIZ 2018 200,000 0 200,000
01 A& HI 200,000 0 200,000
o2 B2 UEe &4 Jl2 & Al
dH243 200,000
22X FHEH ALY 1,502,349 1,149,504 352,845
J| 80,000
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e
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=
11

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 15,142
s 1,407,207
3322 A 285,142 209,731 75,411
< 15,142
i 270,000
101 @124 dl 281,142 205,731 75,411
< 1,142
e 270,000
4 D12t Z2XREES 281,142 205,731 75,411
OZ2322MgFa 281,142
< 11,142
s 270,000
202 4l 2,500 2,500 0
< 2,500
01 = LH YI 2,500 2,500 0
OZ232ZMEE NEZ= 2,500
< 2,500
206 M= Hl 1,500 1,500 0
= 1,500
01 = tl 1,500 1,500 0
O332ZAMEFA HEFFY 1,500
< 1,500
=& HoAAMA H| 60,578 70,000 AQ,422
101 @14l 4,018 0 4,018
04 J12ZtHZ22 a2+ 4,018 0 4,018
OANE=E & A 44,6403 «1H 90 4,018
201 Let249] 24,560 0 24,560
01 At 224l 14,720 0 14,720
OZfX S&l 7,0003 «3H 60 1,260
Ostzaa el ¥ EEFL(SEA, HAES
g) 500,000 *20H A& 1,000
Oz (ZZE Wai=s7) 500
Oocl=g M= 700& *2,0000H 1,400
O+2F +TAM 242
22,0003 22 & »33| x5 & & *20H 2 83 10,560
02 =224l 9,840 0 9,840
OFSPIPNS=J=4 250,000 *3 A = 1201 & 9,000
Odot=Eg 15,0003 3K A 124 2 540
Ofh+=+8 100, 000& *3)H 2~ *13] 300
206 M= Hl 500 0 500
01 MHZ 4l 500 0 500
Os%FU(ME=HM. Sl &)
10,0003 25 23| 500
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St
SH2AE oY
22X FHEHALY

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 A& HIZ 201 I 31,500 70,000 /38,500
01 A& HI 31,500 70,000 238,500

O3sadd =4 1,500
Odl==Z& HOAIL 30,000

SZAE 23X 289,903 0 289,903
101 14 Hl 42,894 0 42,894
04 JIZHHZ2XREE S 42,894 0 42,894

OANdE & HA 44,6403 +1H =180 8,036
O=s2at &A= 2HI0]
60,3303 x10H »21 12,670
O =2 60,3303 x5 52«33 4,525
OAMAZE 2 AT 44,6403 10 x5 »43] 8,928
O&=x= MY 44,6403 x4 H+5 x43] 3,572
OXZ4 ®X 2 P50 2 X
60,3303 x5 8L +23] 4,827
O¢M 2= 33,508,000 *1% 336
201 LB-2d| 40,469 0 40,469
01 At 2t 2l 3,600 0 3,600
Otz el 5P (aEA, EAEF 8)
500,000 *40H 2 2,000
OM=JNAREFRY 100
Ox=(ZZAEX Z AN &k =4 I3
£301) 500, 0003 = 1CH *33] 1,500
02 23=24gHl 36,869 0 36,869
OdIIANEZ 900,000& 1201 & 10,800
Odst=E= 20,0003 *300 A& 1200 & 720
OdJ|etE e =2
200,000& *1H 2 *1200 & 2,400
Ob+==+8 1,200,000& * 14 A& 1,200
O2E=HelAE Heds+2
1,228,700& 1200 & 14,745
OEXEZE &8 e RE3 50,000& x23| 100
OZEXE 282 800,000 »1CH 800
OzelArR2 A el Az Y|
1,310 %24 *4AI2t+1002 1,048
O&OZAI JIH 29 HA=ZHI
1,810& %204 »113] 399
O&CIZIl, ol=2I 30,000& =103l 300
o= x| 4,357,000& ~1CH 4,357
202 04l 1,200 0 1,200
01 = LH Yl 1,200 0 1,200
Oz=t&X el 42X A& 60,0003 «2H 10 1,200
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2322
EE= AR IS 1=
22X FHIHIALE (&)
SH BB (3H) - NRAE - BAS il HI RS2
206 M =8l 59,890 59,890
01 M=z Hl 59,890 59,890
O CI=&(128,610m ) 3,000
OAHEZE 527 4103 *43,000= *32 52,890
sSSP (M=AM, S 2M)
10,0003 70 »33| 2,100
OXM =& 100,000& * 1204 & 1,200
Otlg & s 10,0003 *35E »23] 700
401 AIEHIZ 2 I 142,000 142,000
01 A€ HI 142,000 142,000
O&JIl & =8 AME = 10,000
O2+XclAld +=H 10,000
sS4 =H 500, 000& »4 I 2 2,000
OANg=E 2=+ 5,000
O2ZotifA SEEH =i = 20,000
OFxd =M 10,000
O2eXelAE SSAS WHSA 80,000
OYINFH =T H 5,000
405 TtatF S 3,450 3,450
01 e LS ZH S| 3,450 3,450
] ES] 550, 0002 *3CH 1,650
O2l0H 200,000 *2CH 400
OJHE, US 700, 0003 »2CH 1,400
STA 396,419 396,419
101 124 4] 12,314 12,314
04 D12 R22 XS E=+ 12,314 12,314
OLsSTAIZ JIHEE 44,6403 18 ~8L *123] 4,286
O#2oiE2 AL X F8 A4
44,6403 18 8L 4,286
OkLgZ t3a =8¢ u==g
60,3302 x5 x4 »33] 3,620
O&MEE = 12,192,000 * 1% 122
201 et Y| 93,445 93,445
01 AtR 22l | 15,950 15,950
Ot 2elg88 7Y (aEd, 488 S)
500,000& 47 2,000
OclZ23 Mz 1,500,000& 1] 1,500
OZeIMNBA ARES 7Y 500
Ogdd &= Wi 1,600,000& *2H 2 3,200
OAr&QIBHR & 4003 *15,000& 6,000
OMNYSEH = 60& »15,000& 900




2N S22
M 22RO oY
Sl BBX FUFHIAL CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Octoldg At 30 otd ¢ 20,0003 =104 200
Oodgt&e| X 8 WE =2 150,000&+1H 150
odxtz(3stXNxH 500,000& 10«33 1,500
02 35294l 77,495 0 77,495
ONIIMNE=Z 1,800,000& x12& 21,600
O4dls=E2 20,000& x12& 240
Ol+=2FAHE ME ASES 50,000
O&JI|otE 22| =42 100,000& = 12& 1,200
ORoABHIEY =2 150,000& *12& 1,800
Ok 2 100,000 *4 I 2~ *13] 400
Odgt &2l 3yl 55,000& *13J 55
O&=zx)| dez 50,000& x12& 600
@)= FaReg=a= 50,000& 23] 100
OA&ZE 1,500
206 M= Hl 4,160 0 4,160
01 X2 bl 4,160 0 4,160
OsAu2L(M=H) 10,000& x10H *33| 300
OALHE 232 4103 *2,000=2%33] 2,460
odlz+x¢ 10,000& x5 L x23| 100
OXM=7 30,000& x103] 300
OZgARY 50,000& *20JH 1,000
401 Al HI L 2O HI 268,500 0 268,500
01 A& HI 268,500 0 268,500
Os=s&a =4 500,000& *5J4 A~ 2,500
OF™AIAIE = HVL X S A 1,500,000& =4 CH 6,000
OAN&EE B 5,000
OLS2(2,3km) SEAIE HXI2A 25,000
Od& WHSA 30,000
O3 &A U=x 200,000
405 X+H&HF SHI 18,000 0 18,000
01 At = S F SHI 18,000 0 18,000
ONHAHS 2 Z2HE i 18,000
=H3A L MY 74,598 0 74,598
101 @121l 24,898 0 24,898
04 JI2ZtH22XNHEE =+ 24,898 0 24,898
OAEE 22l & EA
44,6403 x1H *152 x123] 8,036
oux=&d 60,3303 x5 x4 x33] 3,620
OMAE ZATHEHA 44,6403 *5H x 10 33| 6,696
O&EZ=MAHES 44 640 *4H x5 x33| 2,679
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EX: S22
N A2ATRO O
Sl REX FHIHAY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXZ+ &K 2 g50 2/ =
60,330 x10Y 3 %23 3,620
Odtl B2 24,651,000 *1% 247
201 et d| 13,180 0 13,180
01 AP 2t 2| bl 1,600 0 1,600
Ost&A 2eI2ERYU (S, BAEE 5)
500,000 *2 04 2~ 1,000
OQU=INIARZERY 100
OXS(XEE=EX ZATH BXNEZH IS
2F7]) 500,000 = 1CH 500
02 22244l 11,580 0 11,580
ONEIIMNEB(QZ2EET) 900,000 x12& 10,800
Oisle==& 15,0002 x12& 180
o242 150, 000& #2H A % 13] 300
O&CI 2], ol=2] 300,000& 13| 300
206 M 2 Hl 25,520 0 25,520
01 XHZ H| 25,520 0 25,520
OXCIEE(22,684m ) 2,000
OAHEZ E237¢ 4102 13,0002 *4 3] 21,320
SUR (MM, =0l 2 M)
10,000 *30H *33| 900
odlgx¢ 10,000 x15L x23| 300
OXHH 2 & 100, 000& x103] 1,000
1 AIEHI L 20U 11,000 11,000
Al & H| 11,000 11,000
OZ2ZS&EA =M 500,000 *20H & 1,000
OelEB=EZ=xZ M 10,000
=M0| Z2SA 22 76,230 0 76,230
101 2121 ] 36,610 0 36,610
04 JI2ZtHIZ22NEE S 36,610 0 36,610
ON&8 o =8 Ha
44 6403 x 1P 152 x123] 8,036
ol =&¢ 60,330& x5 H x6 L x33] 5,430
OgHEA =M0 S E DI
60,330& *10¥ 10 6,033
OAMAZE Z2 ATES 44 6403 x5H x10L *33] 6,696
O&Z=MAHEH 44 640R *4H x5 %33 2,679
OxZdx &X L Y=ol g
60,330& x5H 10 %23 6,033
OM=Hd &g 44 640 x5 x3 %23 1,340
OMTH EE= 36,247,000 *1% 363
201 YEt2 | 10,960 0 10,960

- 274 -




2AMd: 2322
M IR Y
22X FHEH ALY (&)
SN HH-S(BN) - MBAY - B il HlnE2
01 At 22l 1,600 1,600
Ostaa el 88 P (&N, BEASE 5)
500,000 *20H 2 1,000
OM=ED 228 3¢ 100
OYRNE(ZZ4 BN L IS 25| =e)
500,000& =13l 500
02 8323l 9,360 9,360
OFI| ANEBEZ(UBEIH) 700,000& 1201 & 8,400
Odot+=E= 15,0003 #2001 A~ 1201 & 360
O2bas+2 150,000 *20H A 300
O&CI 2D, 0l =21 30,0008 *102] 300
206 M= Hl 22,660 22,660
01 MHZ 4l 22,660 22,660
OHEZ 2E2+7¢ 4103 +9,000= *43] 14,760
SUPY(M=HM. SScHL)
10,000& x50H *33] 1,500
OHlz>2g 10,000 *35L x23| 700
OEF-Y 5,000& 500 2,500
OZ&C07Y 400& *5,000 2,000
OX M7 100, 000& x12J4 & 1,200
401 AIEHIZ 28I 6,000 6,000
01 A& Bl 6,000 6,000
O2s3&d = 500,000 24 2 1,000
oeEsEx =4 5,000
ELIA{==SmiES =S DN 117,503 117,503
101 @124l 15,393 15,393
4 D12t ZE2EXNSEES 15,393 15,393
o= &g 60,3303 x5 +x32 «33] 2,715
OAMAZE 2 AMEY 44,6403 x10H 52«33 6,696
O&E=MAEY 44,6403 4B +52 *33] 2,679
OFZ4 8N L g 4 =
60,3303 x5 +x32 +23] 1,810
OM=H =g 44,6402 x5 H *3 *23] 1,340
O¢M BEE8= 15,240,000& 1% 153
201 2et24d] 48,245 48,245
01 At 2teltl 4,100 4,100
Ost¥d2AEEZFL(SEX. BLEE )
500,000 *2H 2 1,000
OclZgd N 1,500,000& *13] 1,500
Ozzteld & MAIZ HZ WA 1,500
OWl=2l 223+ 100
02 2229 44,145 44,145
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2N S22
M 22RO oY
Sl BBX FUFHIAL CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHI AIEZ 2,200,000& x12J4 & 26,400
OdtoteE = 150, 000& =121 & 1,800
O2x4+4= 300,000& 13l 300
O2=HXelAld aae =5
1,228,700 * 1204 & 14,745
O&8=x)| dez 50,000& =120 & 600
O&CI2Dl, ol=2l 30,000& 103l 300
206 TH 2 HI 12,865 0 12,865
01 M= bl 12,865 0 12,865
OHEZ 5E 7Y 4103 *5,5002 *33] 6,765
s RA(MEM, HlE)
10,000& *204 *33] 600
Obdlg ¢ 10,000& *25 L x2 3] 500
ZEtA 19 200, 000& =204 4,000
OXM ¢ 100, 000& =103l 1,000
401 Al HI L 2 0HHI 41,000 0 41,000
01 A& HI 41,000 0 41,000
O2=XelAlE =4 10,000
O3s5&a =4 500,000& #2204 A~ 1,000
OYMELNAZZAX JI2S EEAAE & 30,000
MU 19,117 0 19,117
101 @121l 12,687 0 12,687
04 JI2ZtH22XNEE 12,687 0 12,687
ox=&d 60,3303 x5 3 x33] 2,715
OEZMAHELS 44,6403 x10Y x5 x33] 6,696
OM=M=g 44,6403 *5H x3 x23| 1,340
OxXds &I L 3o 2 &
60,3303 x5 32 x23] 1,810
Ot = 12,561,000& *1% 126
201 et A | 4,730 0 4,730
01 AFR2 2t 2l Yl 500 0 500
Ost&a 22 (&K, A28 8)
500, 000& *1JH &~ 500
02 3524t 4,230 0 4,230
O&IIMNEZ 300,000 x 1 A #1200 & 3,600
Odole = 15,000& 1 A~ *12J0 & 180
O2xs+t= 150, 000& x13] 150
O&CI 2D, ol=2] 30,000& x103] 300
206 M = Hl 1,200 0 1,200
01 X bl 1,200 0 1,200
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2N S22
M 22RO oY
Sl BBX FUFHIAL CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OsAUPU(M=M, H=cle)
10,000& *30H 33| 900
otlg ¥ s 2 10,000& * 15 %2 3] 300
401 AIEHIL 20| 500 0 500
01 Al &bl 500 0 500
O35 &4 500,000& * 104 &~ 500
22 HZE gx 22,859 0 22,859
101 @124l 15,059 0 15,059
04 JI2ZtH2E2XNEE S 15,059 0 15,059
OANAEZE &L FH HA 44,6403 *1Hx10L %63 2,679
oux=&d 60,3303 x5 x5 x33] 4,525
OEZMAHELS 44,6403 *4H x5 *33| 2,679
OFdHM=MEH 44,6403 x5 x3 x33] 2,009
OXZ4 ®X 2 gash L &
60,3303 *5H x5 %23 3,017
OdtMEE = 14,909, 000& *1% 150
201 et A | 4,000 0 4,000
01 AFR2 2t 2l dl 1,100 0 1,100
Ostza 22l HABB2Y(ATX, HA8E
s) 500,000& #2204 &~ 1,000
Ou=J] &g A28 2¢ 100
02 332494l 2,900 0 2,900
ONI| AIEE 50,000& *2H A x 1201 & 1,200
O4dle=E2 50,000 *2H A x 1201 & 1,200
Ok gE 100, 000& *2H A~ x13] 200
OXCI 2,0l =2 30,000& x10&] 300
206 M = Hl 2,800 0 2,800
01 X2 bl 2,800 0 2,800
Os2dPL(M=HMH, =l )
10,000& x50 33| 1,500
OoHlg+¢ 10,0003 * 15 %2 3] 300
OX M= 100, 000& =103l 1,000
401 Al HI YL 2 0HHI 1,000 0 1,000
01 A& HI 1,000 0 1,000
O333&4 =4 500, 000& *2JH 2~ 1,000
LA 2ZX(EX) 100,000 0 100,000
Dl 50,000
= 50,000
401 AIEHIL 20| 100,000 0 100,000
Dl 50,000
= 50,000
01 Al& Bl 100,000 0 100,000
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2N
X ZH -
L= B

el

=

Id]
=]

M
g
0 =2
>
11
m
40
[pad
10

R M

R OF fob

A
o o
10

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Ozt&etfa HE = 100,000
Jl 50,000
50,000

M

222l (Ex) 60,000 0 60,000
Il 30,000
30,000

HJ

401 AIEBIZ 2 CHYI 60,000 0 60,000

J| 30,000
30,000

HJ

01 A& HI 60,000 0 60,000
OZZotE2® wxl 60,000

Jl 30,000
30,000

HJ

AWS WEXN 22X+ = 25,000 0 25,000

AUS W gX A 2334 e 25,000 0 25,000

207 & o0 25,000 0 25,000
7 E9H| 25,000 0 25,000

O4lisn X2 IA S=EY 25,000

HS2etR Ao 2e|digt 2= 2,285,425 1,434,782 850,643

1,081,853
371,447
832,125

Mo R

TR MAH ds2E 73,926 73,926 0
25,963
11,000
36,963

Mo R

SAIMNBLREEZS M 73,926 73,926 0
25,963
11,000
36,963

HH W

307 21201 & 73,926 73,926 0
25,963
11,000
36,963

HH A

ES 73,926 73,926 0

51,926
25,963
25,963
ORI 2&ds & 18,000

RN 800,000 x1H 128 9,600
4,800
4,800
— s 100,000& »2&H «12& 2,400
1,200
1,200

2
W+
o
>
Pl
o
>
i)

Mo M

UL
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EX: S22
M. MESSIKAS 22|08 2=
el 2R HAHE dSEE (9 ® =)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
— 82&3 500,000 *1H x12& 6,000
o 3,000
= 3,000
ORI Z2HHBAIXNR(RESA) 4,000
= 2,000
= 2,000
ESRAAIES B=2e 2,211,499 1,360, 856 850,643
= 1,055,890
== 360,447
= 795,162
NS sL2odsY 30,000 50, 132 N 20,132
307 2iz2to| & 30,000 50,132 N20,132
03 QIZIH P ESIHIEX 30,000 50,132 N20,132
OXgEsta 2422 10,000
OXNELESSE AFR=ZZ olAHH| 20,000
HEAE BEZ=AH| 402,000 380,000 22,000
= 201,000
= 201,000
402 SI2vXHE0| ™ 402,000 380,000 22,000
= 201,000
= 201,000
01 AN SAEE =X 402,000 380,000 22,000
OS2AF S THAIAE REAS 402,000
= 201,000
= 201,000
S5 24FH (XA 113,040 72,720 40,320
201 LBt 9| 3,040 2,720 320
01 AP 22| d| 1,200 1,200 0
OSX2M 38 & 22A3) 2
30,000 4004 1,200
02 2224 H| 1,840 1,520 320
OSSN MItE L2 80,000 x230H & 1,840
401 Al HI L 2 0HHI 110,000 0 110,000
01 Al& B 110,000 0 110,000
ORE23M D=2 HAEAMNY J2LEHS
o H| 60,000
OWAMNE THIA 20,000
O23 M 2128 S=AMD(HXNE Z8) 20,000
O35 CotLHEt HHIAY (HIXIE Zgh) 10,000
2IHXE 23 Ex=A| 1,017,000 648,000 369,000
= 701,900
o 94,530
= 220,570
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for o to
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=z
4
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o
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

401 AIEHIZ 2 I

MW

34,400
24,080
3,096
7,224

348,000

A 313,600

01 A& dl

OHAZMESE =I101 3|

02 Zeldl
OsZA e

al
4
e
0z
(=
Jx
S|
e
i

HH A

HH W

17,000

17,000
11,900
1,530
3,570
17,400

17,400
12,180
1,566
3,654

345,560

A 328,560

17,400

402 212t A= 01 &

Mo H

982,600

677,820
91,434
213,346

300,000

682,600

HH A H W N

Mo H

982,600

50,000
25,000
7,500
17,500
120,000
84,000
10,800
25,200
782,600
547,820
70,434
164,346
30,000
21,000
2,700
6,300

300,000

682,600

VR

20,995

10,497
10,498

20,995

401 AIEHIZ 2 THYI

M

20,995

10,497
10,498

20,995

01 A& Hl

OEX& =Jto1galdl

SV

20,995
20,995

10,497
10,498

20,995

S THEZTHAI A&

M

179,500

93,950
85,550

16,000

163,500
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EX: S22
HH: Sz L1
oelr #ER50 YRS CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
N YT EFEESE
77,000 x12& 924
O = di 1,572
— & im) 1,310 %27 *4A|2bx150 1,572
OINE=F=3:[E=PNE:] 1,818
— == A 5,000& x165m 825
— LA M g2 3,000 331 m* 993
03 A2 HH| 1,000 1,000 0
O2U=E SSAI EHoIE S H=X
50,000 2004 2 1,000
202 044l 1,200 1,800 A 600
01 2L Y| 1,200 1,800 A 600
Ode=2oM & dLdo=0==sH &0t
60,000 x2H x5! 600
O&A, 2 & Sstiz=siAl =&
60,000 x2H 5! 600
301 et A= 2,000 2,000 0
09 HAIAHIBEAZ 2,000 2,000 0
OUE ZSHAI =B 4 1,000, 000& 2t A 2,000
306 23 7,000 7,000 0
01 52 7,000 7,000 0
Ok 20&x=EI=2 7,000
0Iot= St =s KN 11,000 11,000 0
< 5,500
= 5,500
307 2iz2to| A 11,000 11,000 0
& 5,500
= 5,500
04 QIZ2tSHALALS B X 11,000 11,000 0
OO0t 2sesKE 11,000
=} 5,500
= 5,500
Ne250s AN (EX) 40,000 108,000 A 68,000
= 3,500
= 36,500
307 QI2t0| ™ 32,000 100,000 A 68,000
= 1,500
= 30,500
04 CIZ2tSHALALS B X 32,000 100,000 A 68,000
OHM41e HEolsd==x SN (FEUHE
EIRIE=N) 32,000
= 1,500
= 30,500
308 ANXISHHMSOIA 8,000 8,000 0
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fAH: S2st22 1
M 2ooiz=2s SN2
Sl BESHO LBRY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 2,000
s 6,000
08 WFJ| 20Ut E=x 8,000 8,000 0
OHM41sl HdEE0==H BN (HAH) 8,000
< 2,000
s 6,000
sgesosd 35,862 33,462 2,400
307 21201 A 35,862 33,462 2,400
02 It S AHE L 35,862 33,462 2,400
O20I23 At XI& 35,862
ZHoS=sHJAAE 3,000,000 3,650,000 A 650,000
= 2,200,000
< 550,000
i 250,000
402 RI2EX =201 M 3,000,000 3,650,000 A 650,000
= 2,200,000
= 550,000
s 250,000
01 It AL E X 3,000,000 3,650,000 A 650,000
O=HitsEsdgaAE 3,000,000
= 2,200,000
< 550,000
[ia 250,000
d= FAAFAWSE 100,000 100,000 0
307 21201 A 100,000 100,000 0
04 QIZFHALAIH B = 100,000 100,000 0
O&= 24FAUS 100,000
dEEs Mg2 x4 300,000 0 300,000
402 RI2FXt20l ™ 300,000 0 300,000
01 B2t t= AP E XL 300,000 0 300,000
OdEEs Mega =4 300,000
s s N 18,000 0 18,000
307 gl2tol & 18,000 0 18,000
02 It M AHE L 15,000 0 15,000
Oog&an A&H X 5,000, 000& 23] 10,000
Og&gu MadHA XI& 5,000
04 DI2HHALALSE E X 3,000 0 3,000
Oz RYHERIAIH(IIZ2H) 3,000
A=A XA 35,000 0 35,000
307 glz2+ol & 35,000 0 35,000
02 LIt AMAHEE 35,000 0 35,000
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EX: S22
HH: Sz L1
Ce: SFERSIo d=2sH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXNLI233 AIY K& 30,000
OXgEststn 249 5,000
sSHs2dl =4 38,500 0 38,500
307 2Iz2to| & 38,500 0 38,500
02 QIZFAAAIE E X 38,500 0 38,500
OSdHs2dl =4 X 3,500,000 115 ™ 38,500
0 Sstol=dAF XIS 20,000 0 20,000
307 2iz2tol & 20,000 0 20,000
02 QIZIA AAIE E X 20,000 0 20,000
O20 M S2stol=sAF XIS 20,000
SN EIOKH 5,000 0 5,000
307 QI2t0| ™ 5,000 0 5,000
04 CIZ2tSHALALS B X 5,000 0 5,000
OHM373 @& =24HM &I 5,000
M=aANZTEHUE XA 7,000 0 7,000
307 212t0| & 7,000 0 7,000
04 SIZ2HSHAAISHE E & 7,000 0 7,000
OF=ZANEXZIEUS XS 7,000
dEO 4 HA A2 S 25,000 0 25,000
307 2iz2to| A 25,000 0 25,000
04 SIZ2ISHAAISH E & 25,000 0 25,000
OFE9 & H& M2 33 25,000
HEEE HIHAFF 5,000 0 5,000
307 gizto| A 5,000 0 5,000
04 CIZ2tSHALALS B = 5,000 0 5,000
Odezad HI| AF3 5,000
LesddLg2 2R 12,000 0 12,000
307 212t0| ™ 12,000 0 12,000
03 UAHHEESAHES 12,000 0 12,000
ORE=s2 A= ZAXSE 500,000 x1H~12& 6,000
OREso @42 2 N
500,000 x12 x12& 6,000
SCA22Y 253,375 244,767 8,608
SCANEAIE2e X3 102,008 93,057 8,951
101 e1214| 6,854 1,383 5,471
04 JI12ZtHIZ22NEES 6,854 1,383 5,471
OEM&F=Y ExMAHAHY
44 6403 x2H x4 x4 3| 1,429
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fAH: S2st22 1
M 2ooiz=2s SN2
ool TAESY CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
— SN2 EERL(EHNESHOIZ5E) 1,000
—SAEZAYXERZERY 1,000& 10074 100
405 XHoHF S HI 65,200 60,000 5,200
02 ST 65,200 60,000 5,200
OZYEAHB TN Y 12,0002 3,000 36,000
ORSETHD NAZH 7
12,000 *4003 *4JH A 19,200
OAE24 Vo 25,0002 20074 5,000
2 M2 DVD+ e 25,0002 2004 5,000
T M2 08X 2el 25,984 61,069 A 35,085
201 L2l 20,384 35,474 A 15,090
01 At 22l 9,384 29,474 A 20,090
Ogt=&H| 9,384
—CSAA0SBURESUE 864
== PN 12,000& x4 £+ 128 576
BPNR= PN 8,000 «3% + 128 288
~0IBRNTSSIITNRY
12,000& x10& 128 1,440
—HESAHLA e 7 100, 000& 52 500
—HE=SAuA =% WA
55,000 *20H 2 110
—HESMLAY ZAMZ 50,0003 «4Al 2tx5 1,000
—SEEM RS HEFH 1,100& *2,000H 2,200
— SN 2¥SE 25 ZgdY 2=
90,000& =34 270
—sgbAMdZe E208 7Y 3,000
03 A2 Z Hl 11,000 6,000 5,000
O=sSA2stuad2dY 2,000,000 32 6,000
O=AEHE MY =& 5,000
202 04l 1,800 480 1,320
01 = LH 4 HI 1,800 480 1,320
OF=EM2UHa & 3 &It S
60,0003 2«15 1,800
405 Xt&tE SHI 3,800 1,115 2,685
01 AL EFH S 3,800 1,115 2,685
OsgzMzael Hs #2 3,800
—3YELY=s Zege 7Y 3,000,000 «1CH 3,000
—HE RFIAS A 2 800,000& ~1H 800
H2eAd2 =4 2 X3 59,083 29,541 29,542
101 @14 dl 10,823 5,601 5,222
04 JIZHHZ2XNHEE S 10,823 5,601 5,222

- 288 -




fAH: S2st22 1
M 2ooiz=2s SN2
ool TAESY CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ25g 22X% 44,6403 x1H 8L 128 4,286
oXx2N229g 44,6402 +2H 182 «4 6,429
O EE 10,745,000& 1% 108
201 Let24d] 23,760 23,220 540
01 At 2teltl 6,480 5,940 540
OLEr2dH| 6,480
—ARES FY(EZS . KYIJISES)
100, 000& *62| *30H A 1,800
—stEa 2el & SEI 7Y
100, 000& *62| *30H A 1,800
—gys NS PY
10,0003 x2& *3H A+ 128 720
—d=0l&e 40,000 *3H 128 1,440
—HOae=z 21,0003 x20f A+ 12& 504
—gEd 7Y 6,000 *304 128 216
02 2324l 17,280 17,280 0
Os&E2= & HA 17,280
—&IIAER 250,000& » 128 301 A& 9,000
=EMNES 30,0003 122 *304 & 1,080
—HAUAER 100, 0003 » 1228 301 & 3,600
— Q0B BE sa2
100, 0003 » 128 301 & 3,600
308 XX EHH SOl 20,000 0 20,000
08 WEII2Z20HEtE X 20,000 0 20,000
O23THN& TAZLH XA 20,000
401 AIEHI L 2 CHYI 4,500 0 4,500
01 A& HI 4,500 0 4,500
OX2Z N2 MEKRXE= 1,500,000 304 & 4,500
gz Ned 24 843,030 586,190 256,840
AN&EE 22l 444,783 275,069 169,714
101 @124 dl 21,372 14,519 6,853
04 JIZHHNZ22XNSE+ 21,372 14,519 6,853
OFAa & MY oA
44,6403 «3H +92|«12& 14,464
Oll=2dg =8 M=&Y
44,6402 10 x5 »33] 6,696
OdMEEZ 21,160,000 *1% 212
201 ¢4l 352,051 239,300 112,751
01 At 2t 2l 28,384 6,890 21,494
Ogt=gHl 25,384
— &) dER 37,000 «6CH x 128 2,664
—St&A HiO dE8= 24,0002 1004 A +128 2,880
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2AMd: 2322
M 2ooiz=2s SN2
Sel HPHEARY 2Y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—dEA8F 7Y 400,000& x12& 4,800
—E3&X # #HEEE 7Y
100,000 »12& 1,200
— g0t BEA AW YHT P
10,000 x 1000 A %123 1,200
— - A3HE, ALY 2401012 248 A
&d&X 2 100,000 »12& 1,200
—dIEE FLU(HZE 108)
150, 000& =123 1,800
—JIH4 22EE Y (HOY 2 WES)
150,000& 128 1,800
—M=ZX S893 Fat
11,000& *x70= * 10 & %23 1,540
— - SHE AR & JHHE ME
1,000,000& *12] 1,000
—g2d FPZ(otH)L MEYI
150,000& »22] 300
— 23 JH gxg € A2 MsS 7L 5,000
ogdxz 3,000
—2E 390 OE Dot 8UE
500,000& x63| 3,000
02 2324l 323,667 232,410 91,257
O 2324gHl 296,274
—&NIlea 16,700,000& =128 200,400
— 4ot R3 2,891,000&+12& 34,692
—APAILotE2te] =2  300,000&*12& 3,600
—dojerd e 22 5,000,000& =13l 5,000
-5 AL =2
250,000& x4« 12& 12,000
—SRHAEEIH =2 10,000, 000& *13] 10,000
— R0ZH Y =2 350,000& =123l 4,200
—A0E ANER 34,5602 128 415
—QHY AIBZ 220,000 128 2,640
—AEIIE =2 5,000,000 =14 5,000
—sUHE EXAMHIA 200,000& 128 2,400
— 3N RES 400,000& x 13l 400
—olold disd, q2A, 2=
2,127 ,000& » 14! 2,127
— 230=3 23 A3
3,000,000& =13l 3,000
— &I A, S0 2L X 3l
400,000& x13l 400
0 ABUE R2IF Ha
10,000, 000& 14! 10,000
O ozl 6,593
—HAgED d27 1,610& %5004 *32l 2,415
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M 2ooiz=2s SN2
SRl YBOZIANY 2 CERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
—&xZHAHE =) HdEH (3L R)
1,810& %1004 =43l 724
~£2YRAS ASH(HLR)
1,810& %1004 =23l 362
— MRA HER TY(FR)
1,610& %20 *BAIZ2t*120L 3,092
O AIZ2&dl |®X E=tl 20,800
—ZF0=2dY FH £ AlE2e 20,000
— Oot: =l 200,000 »20H »22] 800
202 O4dl 5,610 4,250 1,360
01 SLHOYI 5,610 4,250 1,360
ORUE=2(=H,SE,JIH,) Iz UE(3H
g OH16x) 500,000 x3% *23] 3,000
OAEE Zal(&8D],42,820)E3E Jis 1
= 350,000 3% 13| 1,050
O%z+= 2gAdl #IXI0Y S
60,000 *2H x132] 1,560
206 = Hl 7,750 17,000 A9,250
01 MHZ 4l 7,750 17,000 A9,250
OMz=MN&s =¥ 200,000& =33l 600
gdatzs 2 25,000 501 1,250
OM=Z83 g HUNH 3,000& *300kg 900
Ox=gda2el 4l 2 3,000
Oxd==22 &, 8lEg s #¢ 2,000
401 AIEHI L 2 CHYI 48,000 0 48,000
01 A& Bl 48,000 0 48,000
O3¢dE UIIa 2 SHA HIHE Al SAt
28,000,000 * 14! 28,000
O=22 ESEAAMU X A
10,000, 0003 * 1Al 10,000
O=&a g 371 & 10,000, 000& 14! 10,000
405 RHoHF S HI 10,000 0 10,000
01 HatE ESFH S 10,000 0 10,000
Oz 20 59 10,000, 0003 * 1Al 10,000
SgIlE & #A2e 398,247 311,121 87,126
101 @124 dl 9,557 6,121 3,436
M4 DIt ZE2RHSES 9,557 6,121 3,436
O3d¢ U E 44,6403 «3H #x52«12& 8,036
OdMEE= 8,036,000& 1% 81
Ost2¢ At 40 B =
14,400,000& 1% x10% 1,440
201 L2l 104,090 305,000 A 200,910
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01 At 22l 104,090 5,000 99,090
Oger2d| 100,660
-39 28 ¢ &1 300,000& x123l 3,600
— M4 HXE B2 2=
10,0003 «3&+12& 360
— O ABAE YIS Y
750% *200 & x 123 1,800
—slgae8 It 2 2,000& 600 0K 1,200
—3A2E0N OE 2= MEA 2 2
150,000& 12/ x6& 900
-3¢ 2 A EE SHHE M
60,000 *50H 202 6,000
— 2% 3ol 2AEW MH L Z2H
1,200,000& 63l 7,200
— 3% ULV (FO0H) fUS 7
200,000& »3H 600
~ - AZSE 202IC HA 2R
7,000, 000& =12 7,000
— Al 2F 5,000,000& *43| 20,000
—FAIE AE2 3,500,000& x123| 42,000
—WeA3R PE YABI AY
1,000, 000& *103l 10,000
OZHE 022X =&Hl 7,0008+7H 70 3,430
206 M= Hl 22,400 0 22,400
01 =8l 22,400 0 22,400
OBdHE XYM (SZAH MR 2KN 2I0IE S) 10,000
O3¢& SEXM(otol2 AH0ESS) 5,000
O39E RUJIAXM(20E A29A=8) 2,500
O3d% =3 =30A31(CD)
5,500& 1004 550
OZHE dAIE SHIOIE 1,500& 5004 750
O3HE ZIOHA XN 80,000& 20 1,600
Ozoleima CIxtel ¥ g3 2
40& +50,000% 2,000
301 gEtE L= 262,200 0 262,200
09 HALAHIEA S 262,200 0 262,200
OJgz¢ & HIIBH(BERY) 200,000
Ot2AXNIAMNY 223 10,000,000 43 40,000
OdAEA EHE 3,000,000& x63| 18,000
Ozd & dAl 2L AlHl 24
7,000 =100 63 4,200
HH2IZH (222 0) 235,306 187,453 47,853
ol 2 gl 141,958 102,113 39,845
ol | 141,958 102,113 39,845
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-7 8,930 x8H x10A| 2+ 12& 8,573
— 82 8,017 x2H x10A| 2tx 128 1,925
— 93 7,247 x1H x10A| 2Hx12E 870

o=z 9,134 x20H x30A| 2Fx12& 65,765

Osdazazsd 10,475
— SN 67,1423 23 52 6,983
— =& 67,1423 x1H x52 3,492

02 JIE R P 43,468 11,314 32,154

OANZte 2R4+2(8Y, Bu=)

7,6413 4= x10A| 2Hx12E 3,668

o=l 224 24,759
—CSHEAZ(A

7,641 «1H *30A| 2t*x 128 2,751
— S (EA) 7,6413 x1H x40A| 2Hx12E 3,668
— =9 8 (A

7,641 x2H x40A| 2Hx12E 7,336
— = Y (ARH)

7,641 «*3H «40A| 2t 128 11,004

Osgea2xxx=< 15,041
— SN2 67,142 %23 x52 6,983
— =& 67,1423 x2H 60 8,058

| 23t 93,348 85,340 8,008

Jl2&Hl 93,348 85,340 8,008
201 et d9d| 51,988 51,940 48
01 AFR 2t 2| H| 49,340 49,829 AN 489

OYBty=2Hl ESMHAH A 23,640

OSEH SHH A 19,700

OLsSEAS LA 50,0003 x1H »120& 6,000

02 2224 H| 2,648 2,111 537
OAIR 4l e AZH|
1,310 %24 *4 A1 2E%x100 1,048

(@FSPIPAT==DN; 1,600
—BE2(HL) 200,000 = 1CH 200
—282(0=x) 700,000 x2CH 1,400

202 044l 37,160 33,400 3,760
01 2Lyl 37,160 33,400 3,760
O=2Wod (L) 25,100
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